Download this PDF to your computer and go to www.livescribe.com/player On iOS, open the PDF in Livescribe+.

#20 find domain of (f o g) = f(g(x)) 1.) an real # 's 2) diagrom Ŧ R OPD G -7 f(z-(x)) -> g(zi) -> g(zi) > ペラ -00,00) ľ 3.) $f(x) = x^2$ and $g(x) = -x^2 + 6$ determine domain of g $\frac{\varphi(z)}{\varphi} = \frac{1}{2} + 6$ 4) find domain of f F(x) = 202 O to core B 5) use diagram to determine domain Domain of $(f \circ g)(x)$ is an R, all ad #s, (-ao, ao) $\chi \times kis rail 3$

03.18.2019 12:02p Study Groups, Factoring 3/18/pecial 02 rod 1/2 rod 1



#2D find domain DF (f " g = f(g(x)) (,) all real #'s 2) diagram -2 g(x) -2 g(x TR -7 f(g(x)) 3.) $f(x) = x^2$ and $g(x) = x^2 + 6$ determine domain of g $g(x) = x^2 + 6$ Q Q Q Q Q 4) find domain of f $f(x) = -y^2$ $f(x) = -y^2$ 5) use diagram to determine domain Domain of (f o g)(x) is ... R, all ray #'s, (-00, 00) X X X is rail?

Last Fauxing Technique Special troduces () difference OF sources 2) Sum of cubes 3) difference of cubes 1) difference of squares (a+b)(a-b) $a^2 - ab + ab - b^2$ $a^2 - b^2$ written as = (a + b)(a - b)• x - 49 Factor What do you have to square to make 2 ? -> X -> "a" what to you have to square to make 49? -> 7 -> "b" $a^2 - b^2 = (a+b)(a-b)$ $a = \frac{1}{2} b = 7 = \frac{1}{2} - \frac{1}$ Examples • Factor $4x^2 - 25y^4$ $2x - 7'x^2$ $5y^2 - 7'x^2$ $a^2 - b^2 = (a+b)(a-b)$ $(2x)^2 - (5y^2)^2 = (2x + 5y^2)(2x - 5y^2)$ $4x^2 - 25y^4 = (2x - 5y^2)(2x - 5y^2)$ Examples

Fastor 27c³ - 3cd² · descendancy order · gcf = 3c · count terms @ 27c3 - 3cd2 $3c\left(9c^2-d^2\right)$ a = 3c b = d $(3_{\ell})^2 - (1)^2$ ٦c $\frac{2}{-3} = \frac{3}{3} = \frac{3$ FOIL (3c - d **a** 36 + d 2 6 gcf = 1 $a^2 \cdot b^2 = (atb)$ $a = 0^3$ a-b $\left(\begin{array}{c} 0^{3} \\ 0^{6} \end{array}\right)$ $2^{3} - 2$ 2 Q^{3} $Q^{3} - 2$ $()^{3} + 2^{+}$ FUIL -2 2 + 2

Sum + difference of cubes $(a+b)(a^2-ab+b^2)$ $\begin{array}{c} bx method \\ a^2 - ab + b^2 \\ a^3 - a^2b & ab^2 \\ + b & a^2b & -ab^2 & b^3 \\ \end{array}$ $a^3 + a^3b^-ab^2 - a^2b^+b^3$ $a^3 + b^3$ sum of cubes $a^3 + b^3 = (a + b) \chi a^2 - ab + b^2$ difference of cubes $a^{3} - b^{3} = (a - b)(a^{2} + ab + b^{2})$ $a^{3} + b^{3} = (a + b)(a^{2} - ab + b^{2})$ $a^{3} - b^{3} = (a - b)(a^{2} + ab + b^{2})$ Some opposite always public examples • Factor $\mathcal{W}^3 - \mathcal{X}$ what do you have to cube to make 2 -7 2 -7 "a" what do you have to cube to make 8 -7 2 - 7 "b" $\begin{array}{c} \alpha^{3} - b^{3} = (\alpha - b)(\alpha^{2} + ab + b^{2}) \\ (2a)^{3} - (2)^{3} = (2a - 2)(2a^{2} + 2a + b^{2}) \\ 2a^{3} - 8 = (2a - 2)(2a^{2} + 2a + b^{2}) \end{array}$

• Factor $27_{9}^{3} \neq 125z^{12}$ 🦝 3y = 'á 5z* = L (CRR 20 $a^{3} + b^{3} = (a + b)(a^{2}b - ab + b^{2})$ $(3q)^{3} + (5z^{4})^{3} = (3q + 5z^{4})((3q)^{2} - 3q(5z^{4}) + (5z^{4})^{2})$ $27y^{3} + 125z^{2} = (3y + 5z^{4})(9y^{2} - 15yz^{4} + 25z^{8})$ Factor (-64) + |f² $f^{3} - 64$ $f^{3} - 64$. $a=f^{3}$ $(a^3 - b^3) l = (a - b)(a^2 + ab + b^2)$ $(f^{3} - (4)^{3}) = (f^{-} + f^{-} +$ $(f^3 - 64) = (f - 4)(f^2 + 4f + 16)$

16 13 + 128 k 3 + 16 = 16 f = 14 2 2 2 2128 2 64 A H 2 Z gcf = 10 6 $\frac{4(-44d^{2} + 32k^{3})}{a^{3} + b^{3}} = (a + b)(a^{2} - ab + b^{2})$ $16(1d^3 + 8k^3)$ $(16(d^3 + 8k^3))$ a = d $d^{3} + (2k)^{3} = (d + 2k)(d^{2} - d(2k) + (2k)^{2})$ $d^{3} + 8k^{3} = (d + 2k)(d^{2} - 2kd + 4k^{2})$ $= 16(d + 2k)(d^2 - 2kd + 4k^2)$